## Some Theorems on Generating Functions

Mahmood Ahmad Pathan
Department of Mathematics, Aligarh Muslim University, Aligarh-202002, India
e-mail : mapathan@gmail.com
Mohannad Jamal S. Shahwan
Department of Mathematics, University of Bahrain, P.O. Box: 32038, Kindom of Bahrain
e-mail : dr_mohannad69@yahoo.com
Abstract. In this paper, we derive some generating relations involving Konhauser polynomials, Gauss, Humbert, Appell and Kampé de Fériet hypergeometric functions with the help of four general theorems on generating functions (partly unilateral and partly bilateral) of one and two variables.

## 1. Introduction

Let $f\left(z_{1}, \cdots, z_{r}\right)$ be a function of $r$ independent complex variables defined in some domain $\mathbb{C}^{r}$ as the sum of a confluent multiple series

$$
\begin{equation*}
f\left(z_{1}, \cdots, z_{r}\right)=\sum_{k_{1}, \cdots, k_{r}=0}^{\infty} A\left(k_{1}, \cdots, k_{r}\right) z_{1}^{k_{1}} \cdots z_{r}^{k_{r}} \tag{1.1}
\end{equation*}
$$

and let

$$
\begin{equation*}
\Delta_{n}\left(m_{1}, \cdots, m_{r} ; z_{1}, \cdots, z_{r}\right)=\sum_{k_{1}, \cdots, k_{r}=0}^{M \leq n}(-n)_{M} A\left(k_{1}, \cdots, k_{r}\right) z_{1}^{k_{1}} \cdots z_{r}^{k_{r}} \tag{1.2}
\end{equation*}
$$

where $\left\{A\left(k_{1}, \cdots ., k_{r}\right) \mid k_{j} \in \mathbb{N}, j=1, \cdots, r\right\}$ is a bounded multiple complex sequence and $M$ is defined by $M=m_{1} k_{1}+\cdots+m_{r} k_{r}, m_{1}, \cdots, m_{r}$ representing positive integers.

Konhauser [5] defined the polynomial $Z_{n}^{\alpha}(x ; k)$ by

$$
\begin{equation*}
Z_{n}^{\alpha}(x ; k)=\frac{\Gamma(k n+\alpha+1)}{n!} \sum_{j=0}^{n}(-1)^{j}\binom{n}{j} \frac{x^{k j}}{\Gamma(k j+\alpha+1)}, \tag{1.3}
\end{equation*}
$$

Received April 26, 2006.
2000 Mathematics Subject Classification: 33C30, 33C45.
Key words and phrases: Konhauser polynomials, hypergeometric functions, Kampé de Fériet functions.
where $k$ is a positive integer.
Agarwal and Manocha [1] have obtained the following theorem for Kounhasuer polynomials.

Let $a$ and $b$ are complex constants, not both zero. Then

$$
\begin{align*}
& \sum_{n=0}^{\infty} Z_{n}^{\alpha}\left(\frac{x}{(a+b n)^{1 / k}} ; k\right) \frac{[(a+b n) t]^{n}}{(1+\alpha)_{k n}}  \tag{1.4}\\
= & \frac{e^{a \nu}}{1-b \nu}{ }_{0} F_{k}\left[\begin{array}{ll}
- & ; \\
\Delta(k ; 1+\alpha) & ;
\end{array}\right]
\end{align*}
$$

where $\nu=t e^{b \nu}, \Delta(k ; \alpha)$ denote the sequence of $n$ parameters $\alpha / k,(\alpha+1) / k, \cdots$, $(\alpha+k-1) / k, k \geq 1$ and ${ }_{0} F_{k}$ is hypergeometric function [11, p.42(1)].

From Lagrange expansion formula [8], we have

$$
\begin{equation*}
\frac{e^{a \nu}}{1-b \nu}=\sum_{n=0}^{\infty} \frac{(a+b n)^{n}}{n!} t^{n} \tag{1.5}
\end{equation*}
$$

where $\nu$ is a function of $t$ defined implicitly by $\nu=t e^{b \nu}, \nu(0)=0$.
An interesting (partly bilateral and partly unilateral) generating function for Laguerre polynomials $L_{n}^{\alpha}(x)$ [9] due to Exton [3, p.147(3)], is recalled here in the following (modified) form (see [6], [7])

$$
\begin{equation*}
\exp (s+t-x t / s)=\sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} \frac{s^{m} t^{n}}{(m+n)!} L_{n}^{(m)}(x) \tag{1.6}
\end{equation*}
$$

or equivalently,

$$
\begin{equation*}
\exp (s+t-x t / s)=\sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} \frac{s^{m} t^{n}}{m!n!}{ }_{1} F_{1}(-n ; m+1 ; x), \tag{1.7}
\end{equation*}
$$

where

$$
\begin{equation*}
m^{\star}:=\max \{0,-m\} \quad(m \in \mathbb{Z}:=\{0, \pm 1, \pm 2, \cdots\}) \tag{1.8}
\end{equation*}
$$

In subsequent sections of this paper, we shall encounter the following polynomial $\theta_{n, k}^{a, b}(x, y)$ involving Konhauser polynomial and its special cases

$$
\begin{equation*}
\theta_{n, k}^{a, b}(x, y)=\sum_{p=0}^{n} \frac{(a+b(n-p))^{n-p}(-x)^{p}}{(p+m)!p!(1+\alpha)_{k(n-p)}} Z_{n-p}^{\alpha}\left(\frac{y}{(a+b(n-p))^{1 / k}} ; k\right) \tag{1.9}
\end{equation*}
$$

$$
\begin{gather*}
\theta_{n, 1}^{a, b}(x, y)=\sum_{p=0}^{n} \frac{(a+b(n-p))^{n-p}(-x)^{p}}{(p+m)!p!(1+\alpha)_{n-p}} L_{n-p}^{\alpha}\left(\frac{y}{a+b(n-p)}\right)  \tag{1.10}\\
\theta_{n, 1}^{a, b}(x, 0)=\sum_{p=0}^{n} \frac{(a+b(n-p))^{n-p}(-x)^{p}}{(p+m)!p!(n-p)!}  \tag{1.11}\\
\theta_{n, 1}^{1,0}(x, 0)=\frac{1}{n!m!}{ }_{1} F_{1}[-n ; 1+m ; x]=\frac{1}{\Gamma(1+m+n)} L_{n}^{m}(x) \tag{1.12}
\end{gather*}
$$

where $L_{n}^{\alpha}(x)$ is Laguerre polynomial [9] and $m$ and $k$ are positive integers.
The article is organized as follows. In the main Section 2, we derive two theorems on partly bilateral and partly unilateral generating functions of general nature. Two more theorems on multiple generating functions involving Appell and Kampé de Fériet series are proved in Section 3. Later in Section 4, it is shown as to how these theorems lead to a number of generating functions for certain classical polynomials.

## 2. Generating functions involving bilateral series

Theorem 1. Let the function $f\left(z_{1}, \cdots, z_{r}\right)$ be defined by (1.1) and let $\Delta_{n}\left(m_{1}, \cdots, m_{r}\right.$; $z_{1}, \cdots, z_{r}$ ) be defined by (1.2). Also let $m^{\star}$ be defined by (1.8). Then

$$
\begin{align*}
& \frac{e^{s-x t / s+a \nu}}{1-b \nu} f\left[(-\nu)^{m_{1}} z_{1}, \cdots,(-\nu)^{m_{r}} z_{r}\right]  \tag{2.1}\\
= & \sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} s^{m} t^{n} \sum_{p=0}^{n} \frac{(-x)^{p}(a+b(n-p))^{n-p}}{(p+m)!p!(n-p)!} \\
& \times \Delta_{n-p}\left[m_{1}, \cdots, m_{r} ; \frac{z_{1}}{(a+b(n-p))^{m_{1}}}, \cdots, \frac{z_{r}}{(a+b(n-p))^{m_{r}}}\right],
\end{align*}
$$

where $\nu=t e^{b \nu}$, $a$ and $b$ are complex constants, not both zero and provided that each member of (2.1) exists.
Proof. Denote for convenience, the first member of the assertion (2.1) by $\Omega$. Then using the following expansion formula due to Agarwal and Manocha [2, p.276(1.4)]

$$
\begin{align*}
& \frac{e^{a \nu}}{1-b \nu} f\left[(-\nu)^{m_{1}} z_{1}, \cdots,(-\nu)^{m_{r}} z_{r}\right]  \tag{2.2}\\
= & \sum_{n=0}^{\infty} \frac{(a+b n)^{n} t^{n}}{n!} \times \Delta_{n}\left[m_{1}, \cdots, m_{r} ; \frac{z_{1}}{(a+b n)^{m_{1}}}, \cdots, \frac{z_{r}}{(a+b n)^{m_{r}}}\right]
\end{align*}
$$

where $a$ and $b$ are arbitrary complex constants, not simultaneously equal to zero
and $\nu=t e^{b \nu}$ and expanding the exponential function, we obtain

$$
\begin{align*}
\Omega= & \sum_{m=0}^{\infty} \frac{s^{m}}{m!} \sum_{p=0}^{\infty} \frac{(-x)^{p} t^{p}}{k!s^{p}} \sum_{n=0}^{\infty} \frac{(a+b n)^{n} t^{n}}{n!}  \tag{2.3}\\
& \times \Delta_{n}\left[m_{1}, \cdots, m_{r} ; \frac{z_{1}}{(a+b n)^{m_{1}}}, \cdots, \frac{z_{r}}{(a+b n)^{m_{r}}}\right]
\end{align*}
$$

Upon replacing the summation indices $m$ and $n$ in $(2.3)$ by $(m+p)$ and $(n-p)$ respectively, if we rearrange the resulting triple series (which can be justified by absolute convergence of the series involved), we are led finally to the generating function (2.1).

Remark. The above theorem provides us a class of generating relations for the functions $\Delta_{n}$. A large variety of special cases including [2, p.276(1.4)] (when $x=0$ ) may be deduced from it by assigning particular values to variables and parameters.

Theorem 2. Let $a$ and $b$ be complex constants, not both zero and let $\nu=t e^{b \nu}$. Also let $m^{\star}$ be defined by (1.8). Then

$$
\begin{equation*}
\frac{e^{a \nu+s-x t / s}}{1-b \nu}{ }_{0} F_{k}\left[-; \Delta(k ; 1+\alpha) ;-\nu\left(\frac{y}{k}\right)^{k}\right]=\sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} s^{m} t^{n} \theta_{n, k}^{a, b}(x, y), \tag{2.4}
\end{equation*}
$$

where $\theta_{n, k}^{a, b}(x, y)$ is given by (1.9).
The derivation of (2.4) runs parallel to that of (2.1) except that we use (1.4) in place of (2.2) and we skip the details.

## 3. Multiple generating functions

Theorem 3. The Appell's hypergeometric polynomials [11]

$$
\begin{equation*}
f_{m, n}(x, y)=F_{2}\left[\alpha,-n,-m ; \beta, \gamma ; \frac{x}{a_{1}+b_{1} n}, \frac{y}{a_{2}+b_{2} m}\right] \tag{3.1}
\end{equation*}
$$

are generated by

$$
\begin{align*}
& \sum_{n=0}^{\infty} \sum_{m=0}^{\infty}\left(a_{1}+b_{1} n\right)^{n}\left(a_{2}+b_{2} m\right)^{m} f_{m, n}(x, y) \frac{t^{n} T^{m}}{n!m!}  \tag{3.2}\\
= & \frac{e^{a_{1} \nu+a_{2} w}}{\left(1-b_{1} \nu\right)\left(1-b_{2} w\right)} \psi_{2}[\alpha ; \beta, \gamma ;-x \nu,-y w],
\end{align*}
$$

where $\nu=t e^{b_{1} \nu}, w=T e^{b_{2} w}$ and $\psi_{2}$ denotes Humbert's confluent hypergeometric function of two variables [11].

Proof. Starting with the left hand side of (3.2), using series expansion of Appell's function $F_{2}$ (see [11, p.53(5)]) and

$$
\begin{equation*}
(-m)_{k}=\frac{(-1)^{k} m!}{(m-k)!}, \quad 0 \leq k \leq m \tag{3.3}
\end{equation*}
$$

we have

$$
\sum_{n, m=0}^{\infty}\left(a_{1}+b_{1} n\right)^{n}\left(a_{2}+b_{2} m\right)^{m} \frac{t^{n} T^{m}}{n!m!} \sum_{k=0}^{n} \frac{(-1)^{k} k!}{(n-k)!} \frac{x^{k}}{\left(a_{1}+b_{1} n\right)^{k}} \sum_{r=0}^{m} \frac{(-1)^{r} r!}{(m-r)!} \frac{(\alpha)_{k+r}}{(\beta)_{k}(\gamma)_{r}} \frac{y^{r}}{\left(a_{2}+b_{2} m\right)^{r}}
$$

Now replacing $n$ by $n+k$ and $m$ by $m+r$ and using (1.5), we get

$$
\begin{aligned}
& \frac{e^{a_{1} \nu+a_{2} w}}{\left(1-b_{1} \nu\right)\left(1-b_{2} w\right)} \sum_{k, r=0}^{\infty} \frac{(\alpha)_{k+r}}{(\beta)_{k}(\gamma)_{r}} \frac{\left(-x t e^{\left.b_{1} \nu\right)^{k}}\right.}{k!} \frac{\left(-y T e^{\left.b_{2} w\right)^{r}}\right.}{r!} \\
= & \frac{e^{a_{1} \nu+a_{2} w}}{\left(1-b_{1} \nu\right)\left(1-b_{2} w\right)} \psi_{2}[\alpha ; \beta, \gamma ;-x \nu,-y w]
\end{aligned}
$$

by [11, p.59(42)].
Following the method of proof of the formula (3.2), we can readily obtain the following theorem involving Kampé de Fériet series of two variables $F_{q: r ; s}^{p: l ; m}$ (see [11, p.63(16)]).

Theorem 4. The Kampé de Fériet's hypergeometric polynomials

$$
f_{m, n}(x, y)=\mathrm{F}_{q: 0 ; 1}^{p: 1 ; 1}\left[\begin{array}{ll}
\left(\alpha_{p}\right):-n ;-m & ;  \tag{3.4}\\
\left(\beta_{q}\right): \ldots \ldots & ; \frac{x}{a_{1}+b_{1} n}, \frac{y}{a_{2}+b_{2} m}
\end{array}\right]
$$

are generated by

$$
\left.\begin{array}{rl} 
& \sum_{n, m=0}^{\infty}\left(a_{1}+b_{1} n\right)^{n}\left(a_{2}+b_{2} m\right)^{m} f_{m, n}(x, y) \frac{t^{n} T^{m}}{n!m!}  \tag{3.5}\\
= & \frac{e^{a_{1} \nu+a_{2} w}}{\left(1-b_{1} \nu\right)\left(1-b_{2} w\right)}{ }^{2} F_{q}\left[\begin{array}{ll}
\left(\alpha_{p}\right) & ; \\
\left(\beta_{q}\right) & ;
\end{array}\right],(x \nu+y w)
\end{array}\right],
$$

where $\nu=t e^{b_{1} \nu}, w=T e^{b_{2} w},\left(\alpha_{p}\right)$ denotes $\alpha_{1}, \cdots, \alpha_{p}$ and ${ }_{p} F_{q}$ denotes generalized hypergeometric function [11, p. 42(1)].

## 4. Applications

First of all in its special cases when $z_{1}, \cdots, z_{r}=0,(2.1)$ reduces to

$$
\begin{equation*}
\frac{e^{s-x t / s+a \nu}}{1-b \nu}=\sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} s^{m} t^{n} \theta_{n, 1}^{a, b}(x, 0) \tag{4.1}
\end{equation*}
$$

where $\theta_{n, 1}^{a, b}(x, 0)$ is given by (1.11). Secondly upon setting $a=1$ and $b=0$ and using (1.12), (4.1) would obviously correspond to the generating function of Exton given by (1.6) (or (1.7)).

$$
\text { For } r=1 \text { and } f\left(-\nu z_{1}\right)={ }_{0} F_{1}[-; \alpha+1 ;-\nu y],(2.1) \text { reduces to }
$$

$$
\begin{equation*}
\frac{e^{s-x t / s+a \nu}}{1-b \nu}{ }_{0} F_{1}\left[\_; \alpha+1 ;-\nu y\right]=\sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} \frac{s^{m} t^{n}}{m!n!} \theta_{n, 1}^{a, b}(x, y) \tag{4.2}
\end{equation*}
$$

where $\theta_{n, 1}^{a, b}(x, y)$ is given by (1.10). Further for $y=0,(4.2)$ reduces to (4.1) and for $x=0$, we have

$$
\begin{equation*}
\frac{e^{a \nu}}{1-b \nu}{ }_{0} F_{1}\left[\_; \alpha+1 ;-y \nu\right]=\sum_{n=0}^{\infty} \frac{t^{n}(a+b n)^{n}}{(1+\alpha)_{n}} L_{n}^{\alpha}\left(\frac{y}{a+b n}\right) \tag{4.3}
\end{equation*}
$$

Another special case of (2.1) would occur when we set $r=1$ and $f\left(-\nu z_{1}\right)=$ ${ }_{1} F_{1}\left[1+\beta ; 1+\alpha ;\left(\frac{z-1}{2}\right) \nu\right]$. Thus we have

$$
\begin{align*}
& \frac{e^{s-x t / s+a \nu}}{1-b \nu}{ }_{1} F_{1}\left[1+\beta ; 1+\alpha ;\left(\frac{z-1}{2}\right) \nu\right]  \tag{4.4}\\
= & \sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} s^{m} t^{n} \times \sum_{p=0}^{n} \frac{(-x)^{p}(a+b(n-p))^{n-p}}{(p+m)!p!(n-p)!(1+\alpha)_{n-p}} \\
& \cdot P_{n-p}^{\alpha, \beta-\alpha-n+p}\left(\frac{z}{a+b(n-p)}\right)
\end{align*}
$$

where $P_{n}^{(\alpha, \beta)}(x)$ is Jacobi polynomial (11, p.91).
The generating function (2.1) for $x=0$ corresponds to the main result of Agarwal and Manocha [2, p.276].

Next, we consider some applications of assertion (2.4). First of all by setting $k=1$, (2.4) immediately yields (4.2).

If in the assertion (2.4), we set $x=0$, then it reduces to (1.4).
For $a=1$ and $b=0,(2.4)$ yields the generating function

$$
\begin{align*}
& e^{t+s-x t / s}{ }_{0} F_{k}\left[-\Delta(k ; 1+\alpha) ;-t\left(\frac{y}{k}\right)^{k}\right]  \tag{4.5}\\
= & \sum_{m=-\infty}^{\infty} \sum_{n=m^{\star}}^{\infty} s^{m} t^{n} \sum_{p=0}^{n} \frac{(-x)^{p}}{(p+m)!p!(1+\alpha)_{k(n-p)}} Z_{n-p}^{\alpha}(y ; k),
\end{align*}
$$

which further for $x=0$ and $t=s$ reduces to the following known generating function [1, p.116(18), see also 10, pp. 243-244]

$$
\begin{equation*}
\sum_{n=0}^{\infty} Z_{n}^{\alpha}(y ; k) \frac{t^{n}}{(1+\alpha)_{k n}}=e^{t}{ }_{0} F_{k}\left[-; \Delta(k ; 1+\alpha) ;-t\left(\frac{y}{k}\right)^{k}\right] \tag{4.6}
\end{equation*}
$$

Setting $\alpha=\beta=\gamma$ in (3.1) and using [11, p.53(5)], we get

$$
\begin{align*}
& \sum_{n, m=0}^{\infty}\left(a_{1}+b_{1} n-x\right)^{n}\left(a_{2}+b_{2} m-y\right)^{m}  \tag{4.7}\\
& \times 2 F_{1}\left[-n,-m ; \alpha ; \frac{x y}{\left(a_{1}+b_{1} n-x\right)\left(a_{2}+b_{2} m-y\right)}\right] t^{n} T^{m} \\
= & \frac{e^{a_{1} \nu+\left(a_{2}-y\right) w}}{\left(1-b_{1} \nu\right)\left(1-b_{2} w\right)}{ }_{1} F_{1}[\alpha ; 2 \alpha ; y w-x \nu],
\end{align*}
$$

where $\nu=t e^{b_{1} \nu}$ and $w=T e^{b_{2} w}$.
For $p=q=1$, (3.5) yields

$$
\begin{align*}
& \sum_{n, m=0}^{\infty}\left(a_{1}+b_{1} n\right)^{n}\left(a_{2}+b_{2} m\right)^{m}  \tag{4.8}\\
& \times F_{1}\left[\alpha,-n,-m ; \beta ; \frac{x}{\left(a_{1}+b_{1} n\right)} \frac{y}{\left(a_{2}+b_{2} m\right)}\right] \frac{t^{n} T^{m}}{n!m!} \\
= & \frac{e^{a_{1} \nu+a_{2} w}}{\left(1-b_{1} \nu\right)\left(1-b_{2} w\right)}{ }_{1} F_{1}[\alpha ; \beta ;-(x \nu+y w)],
\end{align*}
$$

where $\nu=t e^{b_{1} \nu}, w=T e^{b_{2} w}$ and $F_{1}$ is Appell's function [11, p.53(4)].
For $a_{1}=a_{2}=1$ and $b_{1}=b_{2}=0,(3.2)$ yields

$$
\begin{align*}
& \sum_{n, m=0}^{\infty} F_{2}[\alpha,-n,-m ; \beta, \gamma ; x y] \frac{t^{n} T^{m}}{n!m!}  \tag{4.9}\\
= & e^{t+T} \psi_{2}[\alpha ; \beta, \gamma ;-x t,-y t]
\end{align*}
$$

which is a generalization of the well known generating function due to Rainville [9]

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{2} F_{1}[-n, \alpha ; \beta ; x] \frac{t^{n}}{n!}=e^{t}{ }_{1} F_{1}[\alpha ; \beta ;-x t] \tag{4.10}
\end{equation*}
$$

For $y=0,(3.2)$ reduces to a result [3, p.159(3.4)]

$$
\begin{align*}
& \sum_{n=0}^{\infty} \frac{(a+b n)^{n}}{(1+\alpha)_{n}} P_{n}^{\alpha, \beta-n}\left(\frac{x}{a+b n}\right) t^{n}  \tag{4.11}\\
= & \frac{e^{a \nu}}{1-b \nu}{ }_{1} F_{1}\left[1+\alpha+\beta ; 1+\alpha ;-\left(\frac{1-x}{2}\right) \nu\right], \quad \nu=t e^{b \nu},
\end{align*}
$$

which further for $\alpha=0$ yields a known result [3, p.160(3.18)]

$$
\begin{align*}
& \sum_{n=0}^{\infty} \frac{(a+b n)^{n}}{n!} Y_{n}^{(\beta-n)}\left(\frac{x}{a+b n}\right) t^{n}  \tag{4.12}\\
= & \frac{e^{a \nu}}{1-b \nu}\left(1-\frac{x \nu}{2}\right)^{-\alpha-1}, \quad \nu=t e^{b \nu},
\end{align*}
$$

where $Y_{n}^{(\alpha)}(x)$ are generalized Bessel polynomials of Krall and Frink (see [11], p.75(1)).

## References

[1] A. K. Agarwal and H. L. Manocha, A note on Konhauser sets of biorthogonal polynomials, Indegations Mathematicae, 42(1980), 113-118.
[2] A. K. Agarwal and H. L. Manocha, A theorem on generating functions, Simon Stevin, 56(4)(1982), 275-282.
[3] H. Exton, A new class of generating functions for generalized hypergeometric polynomials, Comment Math. Univ. St. Pauli, 28(1979), 157-162.
[4] H. Exton, A new generating function for the associated Laguerre polynomials and resulting expansions, Jñanãbha, 13(1983), 147-149.
[5] Joseph D. E. Konhauser, Biorthogonal polynomials suggested by the Laguerre polynomials, Pacific J. Math., 21(1967), 303-314.
[6] M. A. Pathan and Yasmeen, On partly bilateral and partly unilateral generating functions, J. Aust. Math. Soc. Ser. B, 28(1986), 240-245.
[7] M. A. Pathan and Yasmeen, A note on a new generating relation for a generalized hypergeometric functions, J. Math. Phys. Sci., 22(1988), 1-9.
[8] G. Polya and G. Szego, Aufgaben und Lehrsatze aus der Analysis, Springer, Berlin 1925, reprint, Dover, New York, 1945.
[9] E. D. Rainville, Special functions, The Macmillan Co., New York, 1967.
[10] H. M. Srivastava, Some biorthogonal polynomials suggested by the Laguerre polynomials, Pacific J. Math., 98(1982), 235-250.
[11] H. M. Srivastava and H. L .Manocha, A Treatise on Generating Functions, Halsted Press (Ellis Horwood Ltd., Chichester), John Wiley and Sons, New York, 1984.

